Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I (CtoD) * EXAMINATION — SUMMER - 2014

Subject Code: C300003
Subject Name: Environment Conservation and Hazard Management
Time: 10:30 am — 12:00 pm

Instructions:

Date: 16-06-2014

Total Marks: 70

1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option
What is approximately value of nitrogen gas in Atmosphere?
1. |A | 72% B. | 78%
C. | 60% D. |21%
What is the name of environmental component formed by seas, rivers, lakes etc?
2. | A. | atmosphere B. | hydrosphere
C. | biosphere D. | lithosphere
Where major important civilization have developed in ancient time?
3. | A. | Atvillages B. | At metro cities
C. | On the bank of river D. | Attown places
Plants are known as?
4. | A. | Primary producers B. | Herbivorous animal
C. | Carnivorous animals D. | Decomposer
Give the name of gas produced by air-conditions, refrigeration and colour industries?
5. | A. | Oxygen B. | Carbon dioxide
C. | Nitrogen D. | CFC
Which the main reasons for acid rain?
6. | A. | Urbanization B. | Co2 in atmosphere react with water
C. | Industrialization D. |CFC
What height the troposphere range from in Km.?
7. |A. | 0-11 B. | 11-50
C. | 50-85 D. | 85-500
Which is responsible for climate change?
8. | A. | Population explosion B. | desertification
C. | Draughts and famines D. | Hot and cold stream of ocean
Which type of energy resources must be used extensively for sustainable development?
9. | A. | Nuclear energy B. | Natural gas
C. | Conventional energy D. | Renewable energy
Give the example of biotic natural resources.
10. | A. | plants B. |Land
C. | Fossil fuels D. | Metals
Wind energy is which type of energy source?
11. | A. | Conventional energy B. | Modern energy source
C. | Biomass energy source D. | Renewable energy source
Which type of energy resource is never exhausting?
12. | A. | Solar energy B. | Natural gas
C. | Petroleum D. | Nuclear energy
Which place is famous for Solar Park in Gujarat?
13. | A. | Surat B. | Kevadiya Colony
C. | Charanka D. | Harij
14. | In which type of ecosystem the Dense, rich, and tall, trees, seen?
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A. | Coral reef ecosystem

B. | Desert ecosystem

C. | Fresh water ecosystem

D. | Tropical ecosystem

The biotic component such as plants trees and

grass are called?

15. | A. | Producers B. | Consumers
C. | Omnivorous D. | Decomposers
Tropical rain forest is an example of
16. | A. | Conventional energy source B. | Renewable energy source
C. | Biotic natural resources D. | A biotic natural resources
Fossil fuels like coal, petroleum, and natural gas are which type of energy sources?
17. | A. | Conventional sources .| Renewable sources
C. | Alternative sources D. | Modern sources
Which type of forest largely found Manipur Mizoram Nagaland Assam?
18. | A. | Tropical rain forest B. | Dry tropical forest
C. | Mountain temperate forest D. | Mountain sub tropical forest
The shallow space above the surface of the earth and with all living organism is called?
19. | A. | Atmosphere B. | Thermosphere
C. | Lithosphere D. | Biosphere
Which is the most important element of biotic component of environment?
20. | A. | Oxygen B. | Hydrogen
C. | Carbon D. | Chlorine
Which state have highest wind power installed capacity?
21. | A. | Tamilnadu B. | Gujarat
C. | Maharashtra D. | Karnataka
What is the average wind velocity in km/hr in costal area of Gujarat ?
22. | A. | 40-60 B. |60-80
C. | 10-30 D. | 80-100
Nacelle is provided in to which type of turbine?
23. | A. | Darrius wind turbine B. | Savonious wind turbine
C. | Water pumping wind mill D. | Horizontal axis wind turbines
Which type of generator is used in wind turbine plant to generate power for grid?
24. | A. | Synchronous induction generator | B. | D. C. generator
C. | Asynchronous generator D. | A. C. generator with battery
Where the generator is installed in horizontal axis wind turbine?
25. | A. | Inthe nacelle B. | On the ground level
C. | Inside the tower D. | Inside the gearbox
What is the function of wind wane?
26. | A. | To measure wind velocity B. | To measure wind energy
C. | Toindicate wind direction D. | To indicate wind temperature
Biomass is Which type of energy resources?
27. | A. | Conventional energy sources B. | Non conventional energy sources
C. | Fossil energy sources D. | Modern energy sources
The solar radiation which produce shadow when they fallen opaque objects are called?
28. | A. | Beam radiation B. | Diffused radiation
C. | Total radiation D. | Microwave radiation
What is the function of glass wool used in solar cooker and heater?
29. | A. | As an insulating material B. | As heat conducting material
C. | To absorb solar heat D. | To absorb solar rays
The instrument giving information about duration of sunlight is called as?
30. | A. | Pyrano meter B. | Pyrenohelio meter
C. | Sunshine recorder D. | Solar meter
Between which shafts, the gearbox of HWAT is provided?
31. | A. | Generator shaft and out shaft B. | Low speed shaft and high speed shaft
C. | Output shaft of nacelle D. | With blade pitching system
3 Which type of the power system need to feed electrical power generated by wind

turbine into grid?
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A. | Variable speed variable frequency

B.

Variable speed constant frequency

C. | Constant speed variable frequency

D.

Constant speed constant frequency

What is the function of yaw drive control system?

33. | A. | To change pitch angle of blade B. | To cut off generator power
C. | To rotate nacelle vertical axis D. | To control generator frequency
Which type of biomass content has maximum energy in it?

34. | A. | Sugarcane stalks B. | Charcoal
C. | Bio-diesel D. | Edible oil
From which material the absorber plate of solar heater is made?

35. | A. | Glass B. | Plastic
C. | Iron D. | Wood
Wind farm converts?

36. | A. | Wind energy in to solar energy B. | Wind energy in to Tidal energy
C. | Wind energy in to Physical energy | D. | Wind energy in to electricity
Wind mill should be setup at place where minimum annual average wind velocity is?

37. | A. | 25km B. | 35km
C. | 15km D. |45km
The rotor of large size power generator wind turbine is rotated by which force?

38. | A. | Drag force B. | Resultant force of drag and lift
C. | Lift force D. | reactive force
What is the position of axis of savonious rotor?

39. | A. | Horizontal B. | Vertical
C. | Inclined D. | Connected with nacelle.

By which principle intensity of solar radiation measure with help of silicon solar cell?

40. | A. | Principle of thermo couple B. | Principle of photovoltaic
C. | Principle of solar concentration | D. | Principle of solar heating
What is the function of transparent glass used in solar cooker and heater?

41. | A. | To view item Kept inside B. | To protect item from out side
C. | To prevent from pollution D. | To pass solar radiation
By which process charcoal is made?

42. | A. | Anaerobic process B. | Hydrolysis
C. | Pyrolysis D. | Biochemical process
From where the slurry come out from biogas plant?

43. | A. | Gas pipe B. | Digester
C. | Outlet tank D. | Inlet tank
Which gas in highest proportion in the constituents of biogas?

44. | A. | Carbon dioxide B. | Oxygen
C. | Nitrogen D. | Methane
Which Climatic phenomena takes place when Thunders accompanied by faster wind?

45. | A. | Tornado B. | Fire
C. | Volcano D. | Earthquake
Tremors experienced after major earthquake are called as?

46. | A. | Foreshocks B. | P-waves
C. | Aftershocks D. | Main shocks
The instrument measuring intensity of seismic vibration is called as?

47. | A. | Seismo meter B. | Seismo wave
C. | Seismo graph D. | Plate tectonics
CFC gas use as?

48. | A. | CNG B. |PNG
C. | LPG D. | REFREGERNT
How many percentage part of environment cover by Troposphere?

49. | A. | 50 B. |70
C. |80 D. |90

50. | When one particular disease affects many people over a globe, the condition called on?
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A. | Epidemic B. | Pandemic
C. | Contagious disease D. | Endemic
Hourly mean velocity of wind means?
51 A. | Average wind velocity B. | Average wind velocity during day
" | C. | Average wind velocity during D. | Average wind velocity in km/hr during
month any hour of day
The centre point on the earth surface from where seismic waves are spread is called?

52. | A. | Focus point B. | Epicentre
C. | Hypocentre D. | Fault point
An earthquake measuring 6-7 Richter scale is considered as?

53. | A. | Strong B. | Light to medium
C. | Medium to Heavy D. | Light
How man made earthquake takes place?

54. | A. | By plate tectonic movements B. | By volcanic activity
C. | By atomic test D. | By celestial body
What is the name of unit measuring intensity of earthquake?

55. | A. | Frequency B. | Time
C. | Richter scale D. | Meter
Which authority should be contacted first when fire breakout?

56. | A. | Police B. | Insurance company
C. | Disaster management cell D. | Fire brigade
Which is the epicentre of last major earthquake in Gujarat?

57. | A. | Patan B. | Baroda
C. | Bhuj D. | Surat
What are the reasons for producing tsunami waves in ocean?

58. | A. | High and low tide B. | Earthquake in ocean
C. | Hurricane D. | Tornado
At Which place gas leak out from union carbide factory in dec1984?

59. | A. | Delhi B. | Bombay
C. | Mathura D. | Bhopal
A buffer stock of grains and grass useful during?

60. | A. | Famines and draught B. | Monsoon
C. | Winter D. | Summer
The rain water having ph less than what called acid rain?

61. | A. | 10.2 B. [5.6
C. |83 D. |114
Bacteria and micro organisms are?

62. | A. | Producer B. | Consumer
C. | Decomposer D. | Transformer
From following which is important component of environment?

63. | A. | Urbanization B. | Over populgtion
C. | Biotic —a biotic D. | Producer
Ozone layer depletion is caused by

64. | A. | CFCgas B. | Green house effect
C. | oxygen D. | chlorine
Blades of horizontal axis wind turbine have?

65. | A. | Aero dynamic design B. | Aero central design
C. | Aero space design D. | Aerometer design
Which one from following not a green house gas?

66. | A. | Co2 B. |[CH4
C. |02 D. |CFC
Powerful sea wave produce in ocean are called?

67. | A. | Tsunami B. | Cloudburst
C. | Earthquake D. | Cyclone

68. | Which type of water circulation occurs in domestic solar heater?
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A. | Natural B. | Pumping
C. | Zigzag pressure D. | By pressure
Which plate is to be used to absorb heat containing in solar radiation?

69. | A. | Reducer B. | Absorber
C. | Reflector D. | Rejecter
TDS is term related with

70. | A. | Air B. | Water
C. | Gas D. | Solid Waste
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